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Question Number : 1 Question Id : 23947278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which memory provides high-speed data access to a processor and stores frequently used computer programs.
applications and data?

Options:

, « Cache memory
> % Hard Disk

= % ALU

, % Secondary memory

Question Number : 1 Question Id : 23947278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 2 Question Id : 23947279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Third Generation Computers were developed in:

Options:
1 « 1960's

~ % Late 1950's
= ® 1970's
4 % 1990's

Question Number : 2 Question Id : 23947279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » 1960 & g H
. % 1950 & 2ok & HT H
- » 1970 & g H
4 % 1990 & g H



Question Number : 3 Question Id : 23947280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is known as father of computer?

Options:

1 % Tim Berners-Lee
> % Brent Hoberman
- % Steve Shirley

4 « Charles Babbage

Question Number : 3 Question Id : 23947280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 4 Question Id : 23947281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not an input device?

Options:

1 « Printers

-~ % Mouse

- = Keyboard
4 ® Microphone

Question Number : 4 Question Id : 23947281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 5 Question Id : 23947282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following is a single user operating system?

Options:
1« MS DOS

> # Linux
z #® Unix
4 ® Windows

Question Number : 5 Question Id : 23947282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 6 Question Id : 23947283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a non-impact printer?

Options:
1 % Dot-matrix Printers

> o Laser Printers
= % Daisy-Wheel Printers

4 # Line Printers

Question Number : 6 Question Id : 23947283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 7 Question Id : 23947284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not an USB type?

Options:
1 o TYPeE
> % IypeBS5pin
5 % Type A
4 % Type C

Question Number : 7 Question |d : 23947284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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3 ® T A
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Question Number : 8 Question Id : 23947285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following memory uses capacitors and hence they need periodic refreshing?

Options:
| « DRAM

-~ % Cache memory
s * ROM
4 % Hard Disk

Question Number : 8 Question Id : 23947285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
| » SI¥RTTH (DRAM)

o W ﬁm
. » UH (ROM)
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Question Number : 9 Question Id : 23947286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The acronym UPS stands for:

Options:

L % Unique Power System
Universal Power System

o B 4

= % Universal Power Source

4 v Uninterruptible Power Supply

Question Number : 9 Question Id : 23947286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 10 Question Id : 23947287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not an optical media?

Options:
1 ® CD

> ® DVD
5  Floppy
4 ® DVD RAM

Question Number : 10 Question Id : 23947287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fafafaa 7 9 #i9 a1 = difcesa Aifzar Jgr 22
Options:

% HEr
5 % SIATET
3 v TR
U




Question Number : 11 Question Id : 23947288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
By default. programs are installed in:

Options:

1 « Cdrive

> % D dnve

3 % Edrive

4 #% Flash drive

Question Number : 11 Question Id : 23947288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 12 Question Id : 23947289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is a set of computer programs designed to permit the user to perform a group of coordinated
functions. tasks or activities?

Options:
, w Proprietary Software

5 ® System Software
3 o Application Software

4 % Embedded software

Question Number : 12 Question Id : 23947289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 13 Question Id : 23947290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not an open source software?

Options:
, w Firefox (web browser)

> # Thunderbird (Mail services)

-  Microsoft office (Spreadsheets, Database. Word etc.)

4 % Gimp (image manipulation program)

Question Number : 13 Question Id : 23947290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 14 Question Id : 23947291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a computer software with its source code made available with a license in which the copyright
holder provides the rights to study. change and distribute the software to anyone and for any purpose?

Options:
| % Operating System

5 ® Proprietary System
= % Embedded Software

4 Open-source Software

Question Number : 14 Question Id : 23947291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 23947292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select proper hierarchy of Computer Languages from Low to High.
Options:

. Machine Language

. Assembly Language

. High-Level Language

=

b=
S
%

. High-Level Language
. Assembly Language
. Machine Language

b =

o
S
(%

. High-Level Language
. Machine Language
. Assembly Language

B
(VT A R

. Machine Language
. High-Level Language
. Assembly Language

"
L T S

Question Number : 15 Question Id : 23947292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 16 Question Id : 23947293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What translates source code into some efficient intermediate representation and immediately executes?
Options:
, w Assembly Language

- u Machine Language

5 ® Programming L anguage

4 Interpreter

Question Number : 16 Question Id : 23947293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
W FIT FT FAA FTH JawT (efficient intermediate representation)

Options:
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Question Number : 17 Question Id : 23947294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
NTES stands for:
Options:

; » Novel Technology File System

-  New Technology File System

- u Networking File System
4 % Network Technology File System

Question Number : 17 Question Id : 23947294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 18 Question Id : 23947295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which process checks. and ensures that all components of the computer are operating and connected properly?
Options:
| Booting

> % Processing
5 ® Saving

4 w Editing

Question Number : 18 Question Id : 23947295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 23947296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The term VPN stands for:
Options:

1 # Vital Public Network

> % Vital Private Network
z % Virtual Public Network
4+ Virtual Private Network

Question Number : 19 Question Id : 23947296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 20 Question Id : 23947297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Act of making a program ready for execution on a computer by doing a setup of a computer program

including device drivers and plugins is called as:
Options:

, = Configuration

> % Storage

5 % Upload

4 + Installation

Question Number : 20 Question Id : 23947297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 23947298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A bar that indicates the opened applications and can be used to switch between applications quickly is:
Options:

Menu bar

®

i
Tool bar

E

2
% % Status bar
4 « Task bar

Question Number : 21 Question Id : 23947298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 23947299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not an operating system?

Options:

1 % Windows 7
> # Windows XP
= % Windows 95
4 « Windows 97

Question Number : 22 Question Id : 23947299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 23 Question Id : 239472100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Security hardware and software that control access to a company’s intranet and other internal networks is called:

Options:

1 # Client
> « Firewall
o R NIC

4 % Proxity

Question Number : 23 Question Id : 239472100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 239472101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Attempts to slow down or stop a computer system or network by flooding it with requests for information and data is
called:

Options:
1 ® Cracker

> « Denial of service
= % Hacker
4 % Trojanhorse

Question Number : 24 Question Id : 239472101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 239472102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Allowing user to perform more than one computer task such as the operation of an application program at a time is
commonly referred to as:

Options:
. Multitasking

> % Multi-processing
- » Multi-operating

4 ® Multi-paging

Question Number : 25 Question Id : 239472102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 239472103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is known as unauthorized access into others system?
Options:
, « Hacking

-~ » Encryption
5 ® Scanning
4 % Decryption

Question Number : 26 Question Id : 239472103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 27 Question Id : 239472104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
All soft deleted files and folders are automatically moved to:

Options:
1 # Control Panel

~ % Spam Folder
3 o Recycle Bin

4 % My Computer

Question Number : 27 Question Id : 239472104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:
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Question Number : 28 Question Id : 239472105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A task bar. by default. does not contain:

Options:
1 # Start Button

> « Scroll Bar

5 » Quick Launch Bar

4 8 System Tray

Question Number : 28 Question Id : 239472105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
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Options:
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Question Number : 29 Question Id : 239472106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
CPU and memory usage used can be viewed from:

Options:
,  Task Manager

5 % My Computer
- % windows Explorer

4 % Internet Explorer

Question Number : 29 Question Id : 239472106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:
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Question Number : 30 Question Id : 239472107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Windows Explorer. detailed view of the file does not display:

Options:
1 # Name

> « Password
5 % Type
4 ® Size

Question Number : 30 Question Id : 239472107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 31 Question Id : 239472108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How are two files which are not in sequence selected?

Options:

, w Hold Shift key and click on desired files

-~ » Hold Alt key and click on desired files

5 » Hold Tab key and click on desired files

s Hold Ctrl key and click on desired files

Question Number : 31 Question Id : 239472108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:
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Question Number : 32 Question Id : 239472109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following is a file archiver and compressor?
Options:
| v WiInZip

> % Magnifier
- % Narrator

4 % Squeeze

Question Number : 32 Question Id : 239472109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 33 Question Id : 239472110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is not a file format for images?

Options:
| ® Dbmp
> % JPE
3z ® Aif

4 « Xlm

Question Number : 33 Question Id : 239472110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:

Question Number : 34 Question Id : 239472111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the shortcut key to open Windows Explorer?

Options:

1 % Cil+E

> « Windows + E
3 # AIt+E

4 ® Shifi +E

Question Number : 34 Question Id : 239472111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

{ % Ctrl +E

> « Windows + E

2 % Alt +E

4 % Shift +E

Question Number : 35 Question Id : 239472112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To move the cursor one word right. which key is used?

Options:
; = ALT +Right Arrow

> « CTRL + Right Arrow
5 % SHIFT +Right Arrow

4 » Fn+ Right Arrow

Question Number : 35 Question Id : 239472112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

] % Alt + ZrT T
5 « Chrl + grr &
- » SHIFT + grar o
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Question Number : 36 Question Id : 239472113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used to insert a 'Hanging Tab' in MS Word?

Options:

1w CTRL AT
> % CTIRL+H
- % CTRL+L

4 % CTRL+R

Question Number : 36 Question Id : 239472113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, # CTRL + T
, « CTRL + H
;% CTRL + L
. # CTRL + R

Question Number : 37 Question Id : 239472114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the below is a type of page orientation?

Options:
1 % Horizontal

> u Flipped

= « Portrait
4 % Vertical

Question Number : 37 Question Id : 239472114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 38 Question Id : 239472115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Inserting a digital signature in Word documents requires . such as one from a certified Microsoft partner.

Options:
, « Digital ID

- u Digital camera

= % License

4 % Certification

Question Number : 38 Question Id : 239472115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
32 ZEaEST H TF Rfoed 5w 5o &+ v Fr JFTFAT BT &, I U gAHUT
ATSHETFE TEER ¥ ¢

Options:

1.#’*%%“34@
.« TBfSes A
5 % TEEH

4 % SHTOMRIOT

Question Number : 39 Question Id : 239472116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The shortcut function key to open 'Save as' dialog box in MS Word is:

Options:
1 & F10

o B Fo
5 o Fi12
4 % Fl11

Question Number : 39 Question Id : 239472116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TATH J2 H Q9 U ST 9198 Tidded & [T oicahe Bl hr T g7




Options:

1 % F10
> % FB
z « F12
4 % F11

Question Number : 40 Question Id : 239472117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Short cut key to move to the next sheet in Excel is:
Options:

1 ® CTRL + Tab

5 CTRL + Page Down

- » CTRL +Page Up

4 % CTRL + Right Arrow key

Question Number : 40 Question Id : 239472117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TFET H 3T ofie oT I & T amésre &1 =7 22

Options:

1 ® CTRL + Tab
> w CTRL + Page Down

- » CTRL + Page Up
4 » CTRL + Right Arrow key

Question Number : 41 Question Id : 239472118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

is used to find the number of words. characters. paragraphs. and lines in a Word document.
Options:
1 % Thesaurus

> % Spelling & Grammar

5 » Paragraph

4 « Word Count

Question Number : 41 Question Id : 239472118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T I TS H g, J0T, e 3T aEar Fr gE 79 7 F T g3 & s
gl

Options:



Question Number : 42 Question Id : 239472119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Number of rows in Excel 2010 are:
Options:

1 « 1048576

> % 65536

= % 1024

4 % 2148576

Question Number : 42 Question Id : 239472119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Taae 2010 # 9Faar & g aer 87
Options:

. » 1048576
. % 65536

- % 1024

. % 2148576

Question Number : 43 Question Id : 239472120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Pre-defined and built-in formulas in Excel are known as:
Options:

1 % Auto sheets

S

-~ % Diagrams

Charts

S

3
4 + Functions

Question Number : 43 Question Id : 239472120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TR H 99 e AR AT g5 e v # Frer s 22

Options:

1 ® Hﬁﬂﬁ?‘:



5 % ST
3_&6?“_&-
4 & P

Question Number : 44 Question Id : 239472121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the formula =$AS$3*K7, $ symbol is used for making cell reference as:

Options:
1 « Absolute address
- % Constant

5 u Alignment

4 % Relative cell address

Question Number : 44 Question Id : 239472121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T = $AS3+K7, $§ & v foFm a7 &7 Hest a1y & e sawr fFar e 22

Options:

| v TEEET T
2.-5»3%_\3?'7
S.QW

4 % JTIET Tel IaT

Question Number : 45 Question Id : 239472122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which function adds the cells specified by a given condition or criteria?
Options:

;= Sum()

o> o Sumif()

5 & Sumifs()

4 % Autosum()

Question Number : 45 Question Id : 239472122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FiT TT Bl T &r 912 T2ufa a1 Araest & e 97 Feft & ArEar 87
Options:

| % Sum()




5 Sumif()
5 % Sumifs()

4 = Autosum()

Question Number : 46 Question Id : 239472123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The most widely used social networking site is:

Options:
; # CERN

# LinkedIn

E

2
= % Twitter
4

« Facebook

Question Number : 46 Question Id : 239472123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
e A9% T § 3TAIT Fr A T B AR TS 8

Options:

1.&3-\:’#

Question Number : 47 Question Id : 239472124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which line describes the contents of the message when sending an e-mail?
Options:

1 ® o

o o Subject

2 % CC

4 ® bee

Question Number : 47 Question Id : 239472124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IS TF S-Ho S F1GT § O FiT O @ TS H G F I A 22

Options:

1_&3?’\-



o oo m
= W m
4 ® W

Question Number : 48 Question Id : 239472125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The code for a Web page is written using:
Options:

, = Afifth generation language

> ® URL

5w Win Zip

4 « Hypertext Markup Language

Question Number : 48 Question Id : 239472125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T 39 97 F o = &Fge s9aer ¥ o e 22

Options:

| % Ueh 9r=rET dIEr sTST

, » TIWTE (URL)

S.Qﬁﬁﬁq
, v BB TFEE ATGHT 3=

Question Number : 49 Question Id : 239472126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The value of the Excel expression = ABS (2+9/3-3) 1s:
Options:

Lo

I-.2

L]

o> R

o ®

-

4 B

Question Number : 49 Question Id : 239472126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
CFHeT HTEIUT = ABS (2+9/3-3) &I HIT T §7?

Options:
1. 2



> % 3
3 % 4
4 % 1

Question Number : 50 Question Id : 239472127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Google is a:
Options:

|« Web search engine

- % Web browser
5 » Operating system

4 % Protocol

Question Number : 50 Question Id : 239472127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TS Teh 4T &7

Options:

1.#33@#%;‘?

o % I FIF

.« R fwew
4 % SISreTer

Question Number : 51 Question Id : 239472128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Default number of sheets in an Excel 2007 Workbook is:
Options:

1 ® 1

>« 3

I_J'l

3 %
4 % 7

Question Number : 51 Question Id : 239472128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
U TFHA 2007 # AT IHgF A ofieh Fr Bwiee FEwm Fw R?

Options:

13.31

o o 3



3_%-35
4 % 7

Question Number : 52 Question Id : 239472129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A creates a standardized document that can be sent to many recipients.

Options:

, % Template
~ % Macro
5 « Mail Merge
4 » Hyperlink

Question Number : 52 Question Id : 239472129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TF ATAHIFd SFAEH SAdT & JT F5 odhdlHl H ST T Tl 2l
Options:

1.%32.?:qﬁ?
g_ﬂﬂa'ﬂ-

5 v AT A
. » BTEAee

EEADING COMPFEEHEMNSION

Section Id : 2394728
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 2394728
Question Shuffling Allowed : Yes

Question Id : 239472130 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH



Read the following passage and answer the questions given after it.

Not many young people can say that they have travelled through all the states in India. I can. the reason being my
parents. My parents always loved to travel. We started off as a young family of four. Being a middle class family. our
travels had to be low cost. But we spared no energy in making the most of each trip. Starting from our trips to Munnar.
Khajivar at a very young age of three. to places like Jaisalmer. Arunachal Pradesh. Bhutan which were not so towisty in
the nineties, at the age of 9-10 (my sister being 4 years old). we had covered the whole country by the time I was 17!

My parents always planned the trips themselves. We never took the services of a travel agent. We didn’t even ask for
any suggestions. My parents would actively involve me in the planning, by getting big maps of places we would be
visiting and explaining to me where all we would be going to.

Once we travelled from Raipur (Chhattisgarh) to Jaipur (Rajasthan) to Jaisalmer, almost 2400 kilometers traversing
through the nothingness of Madhya Pradesh. the scary Chambal Valley. through endless sand dunes...it was an amazing
journey where we bonded and truly understood our parents. and they us.

Eating the local food. visiting traditional markets. travelling in public transport. communicating in the local language
are all things that I have learned to love.
These travels have given me life skills that I would not have had otherwise acquired.

Being a middle class family we did not stay in resorts with pools. but being kids we always wanted to get into the water
and play. So instead of pools my parents led us to lakes, rivers and the sea. This is how I learnt to swim. By jumping
into the Bay of Bengal at the age of 5 and frying to swim in Chilka Lake (the largest coastal lagoon) at the age of 11.
And I have not looked back since. Today I am a proficient scuba diver because I am fearless with water bodies.

Sub questions

Question Number : 53 Question Id : 239472131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The author was able to see the whole of India by the time he was seventeen because:

Options:
; w hiswas a middle class family.

-  he started at a young age with his parents.
- % his parents planned the trips themselves.

4 » they covered 2400 km in Rajasthan and M.P.

Question Number : 54 Question Id : 239472132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The author belonged to a middle class family. As a result they:

Options:
, % couldn’t travel to foreign countries.

- % they couldn’t play in water.
-  Mravelled at a low budget.

4, » started off as a young family.

Question Number : 55 Question Id : 239472133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In which of the following places there were not many tourists about twenty years ago?
Options:

, w Jaipur

> « Bhutan
= % Munnar

4 » Khajiyar

Question Number : 56 Question Id : 239472134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The author acquired many life skills during his travels. Which of the following is NOT considered as a life skill?

Options:
, % communicating in local language

o % Swimming in rivers and lakes

- % fravelling in public transports

4 staying in resorts with pools

Question Number : 57 Question Id : 239472135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What can be the best title for this passage?

Options:
; w Educative Value of Travelling

> w Iravelling All-over India
5 » Planning a Trip

4 Starting Young as a Traveller

Question Id : 239472130 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH
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Sub questions

Question Number : 53 Question Id : 239472131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
oEH A HAE I A AT & HeT & HIOT ARG H HAVT oA o7 Fhifh

Options:

% & AR T 9RER F |
, 36 Tgd & FHA A H WA ACA-AT & WA AT ST A FT T )

2.

- % 38 A-Nar 9T & A S AT q A o
3eale UTEd U9 Fegsweer & 2400 fohaaey $r gt ot #r o

4 %

Question Number : 54 Question Id : 239472132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

G HALIA FEMT 9RER T I o1l FHF IRUTHEER
Options:

 » 7 fEeT & 7T A W TEa g

, % F U H O FE FHS o

2 v  FH T I I F T

32 U JaT GRaR & §F H qTATT Hr o

Question Number : 55 Question Id : 239472133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ﬁmﬁﬁﬁﬁﬁ%mwzﬂaﬁqﬁmmaﬁgmmﬁ?

Options:

1 ® 3

Question Number : 56 Question Id : 239472134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

FWF A HTAT TTTHT & ST AT F F5 Here aeg &Fr) FmEa 7 7 e shee #tue 787
ATAT ST Hehdl 27

Options:

| % TAET &T9T H HU§OT
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Question Number : 57 Question Id : 239472135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TH HJTOC H Halead e FAT & HepaT 87
Options:

| T F A&AOF T

o x W HRS Hr AT

= % TATA HT HTASAT
4 FEAEFEAT H TS a1

OUANTITATIVE APTITULDE
Section Id ; 2394729
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 2394729
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 239472136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The smallest among the following

5 4 6 5 & W A
TR e
Options:

5 4
1 % ;-E

& &
> % 5 6
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Question Number : 58 Question Id : 239472136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

fTafofeT # O g9 oier JaeT #iF a1 72

5 4 5 7 6 8 o
4 o - 6 ' 6 o 9
Options:

1 ®

P
®
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Question Number : 59 Question Id : 239472137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What least number must be subtracted from 1931 so that the resulting number when divided by 9. 10 and 15 will leave
the same remainder 5 in each case?

Options:
1 ® 31

o R 33
3. v 36
4 B 41

Question Number : 59 Question Id : 239472137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

1931 HEAT ¥ FId ¥ TIH HET &I "= grem, fSwe aiona @& # 9, 10 va 15 & R
FI 9T T ATHS H 9 a7 5 gem?
Options:

1 ® 31
- % 33
3.« 36
4 % 41

Question Number : 60 Question Id : 239472138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Two numbers are in the ratio 2 : 3. If the first number is increased by 20%, and the second is increased by 20%, then
percentage increase in their sum is:

Options:
1 % 18
- o 20
=8 25
4 % 40

Question Number : 60 Question Id : 239472138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& WA, 2 1 3 F Heydd # 1 TG Ige wEAr H 20% # IfE Fr Fw, w7 @l g & o 20% H
iy #r ST, & 3AF T F i F B IRy @ehe

Options:

>« 20

Question Number : 61 Question Id : 239472139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The scaleof amapis 1:7 x 107. Two cities are 5 cm apart on the map. The actual distance (in km) between them is:

Options:
1 ® 1750

> % 2800
s % 3200
4 « 3500

Question Number : 61 Question Id : 239472139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Teh AT T SAHAT 1 7 x 107 g1 AA=T # gr gy, 5 ddFer Hr
<fr W &1 37§ Fr aeateE i (Freefer #) Teafa@a €

Options:

% 1750
. % 2800
- % 3200
.« 3500

Question Number : 62 Question Id : 239472140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



If 22 taps can fill a tank in 7 hours. then 44 such taps will fill 4 such tanks in:
Options:

1 « 14 hours

> % 21 hours

z % 28 hours

4 % 56 hours

Question Number : 62 Question Id : 239472140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ifg 7 92 H 22 7 ¥ R &F F 9T S FFHAT §, O OF 44 Felr ea) hae "er # 4 S & s
T Tl 87

Options:

L@ 148
- % 21 TS
5 % 28 B
4 % 56 EE

Question Number : 63 Question Id : 239472141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a test. average score of three sections A, B and C of a class were 40, 45 and 46 marks respectively. If the number of

students of A, B and C are 35. 42 and X respectively and the average score of all the students was 44, then the value of
X is:

Options:

1 ® 42

o> ® 44

= B 46

4.;?49

Question Number : 63 Question Id : 239472141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

U UQET H, A HFAET A, B U C T AW 3F FAA: 40, 45 T 46 w1 I A, BT C H

feanfia Fr g w7 35, 42 va X off T wef Remfdat v siwa 3% 44 o1, F X &7 T 7
g

Options:

1 & 42
> % 44
z % 46
4 v 49



GEMERAL MENTAL ABILITY AND REASONING

Section Id ; 23947210

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 23947210
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 239472142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Choose set of number from the four alternatives sets that is similar to the given set.
Given set (2. 14. 16)

Options:
. % 2.7.8)

, % (2.9.16)
2 o (521, 29)
., % (4.16.18)

Question Number : 64 Question Id : 239472142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

faa g & o) Reedl # & 39 98¢ & 994 #{, 1 &€ v 598 & 744 ¢
fear s/ wAg (2, 14, 16)

Options:

o 18T,

. (2,9, 16)
3, 21, 24)
4, 16, 18)

2

%

2w
4 ® (

Question Number : 65 Question Id : 239472143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In the following question. there is some relationship between the two terms to the left of :: and the same relationship
holds between the two terms to its right. Also, in each question. one term either to the right of :: or to the left of it is
missing. This term is given as one of the alternatives given below each question. Find out this term.

AG: 10 :EBR:?

Options:



1 % LR
> « MS
z % PV
4 % SY

Question Number : 65 Question Id : 239472143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T=ofag T & ; &7 912 317 & 917 ar g & &9 FS a9y g, 9T &5 AW &U 7 et #H o
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Options:

1 % LR
2 v M3
2 & PV
g BY

Question Number : 66 Question Id : 239472144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A man is facing towards west and turns trough 45° clockwise, again 180° clockwise and then turns through 270° anti
clockwise. In which direction is he facing now?

Options:
1 % West

> % North-west

South

®

2
4 « South-west

Question Number : 66 Question Id : 239472144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 67 Question Id : 239472145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pointing towards Rita, Nikhil said, I am the only son of her mother’s son.” How is Rita related to Nikhil?

Options:

1 & Aunt
> % Niece
%z % Mother

4 ® Cousin

Question Number : 67 Question Id : 239472145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 68 Question Id : 239472146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If $ means +. #means -. (@ means X and * means +, then what is the value of 16 $4 @ 5# 72 * 87

Options:
1 ® 25
2 o 27
=58 20
4 % 30

Question Number : 68 Question Id : 239472146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
R SHaT+ G amaT -y @FafxF+ AT+, A 16$4 @5 # 72 « 8 & Hog 74T
gem?

Options:

1 & 25
> o 27
z % 29
4 % 36



Question Number : 69 Question Id : 239472147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The diagram given below shows the number of students who got distinction in three subjects out of 500 students. Study
the diagram carefully and answer the question that follows.

Physics

Chemistry

NMathematics

What is the percentage of students who got distinction in two subjects?
Options:
1 " 8%

5 % 9%
=z B 10%
4 % 12%

Question Number : 69 Question Id : 239472147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 70 Question Id : 239472148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The basic parameters of India’s foreign Policy were laid down Dy:

Options:

, w Dr. Rajendra Prasad
> % Dr. Radhakrishnan
= « Jawahar Lal Nehru
4 % Dr. Zakir Hussain

Question Number : 70 Question Id : 239472148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 71 Question Id : 239472149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which, among the following, is NOT a work of Rabindra Nath Tagore?

Options:
1 # Chitra

-  Kapal Kundala

= #% The Crescent Moon
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Question Number : 71 Question Id : 239472149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 72 Question Id : 239472150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Prof. Amartya Sen was awarded Nobel Prize for his contribution to the field of:

Options:
1 % Food and Famines

> « Welfare economics

5 w Indian economy

4 % Poverty

Question Number : 72 Question Id : 239472150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 239472151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which country was severely struck by Cyclone Winston in 20167
Options:

1 % Australia

- % Philippines

= % New Zealand
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Question Number : 73 Question Id : 239472151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 74 Question Id : 239472152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Where was the 7 BRICS summit held?
Options:
1 ® New Delhi. India

> % Cape Town. South Africa
- « Ufa. Russia
4 w Brasilia, Brazil

Question Number : 74 Question Id : 239472152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 239472153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“World Bank” is also known as:
Options:

1 International Bank for Reconstruction and Development

- % International Bank for Rehabilitation and Development

5 % International Bank for Refinance and Development



, = International Bank for Research and Development
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Question Number : 76 Question Id : 239472154 Question Type: TYPING TEST Display Question Number : Yes



Railways rinister Suresh Prabhu is doing the right thing by seeking to monetise assets and roping in SEI
Zapital Markets to help in the process. Howewver, the government should help him find the Rs 32,000 crore
needed to implement the Seventh Pay Corumission award in the Railways, at least by deferring dividend
pavrment. Being part of the government is a drag on the Railways. Apart from thwarting a cormmercial culture,
it irnposes the pay cormrission award on the Railways, which should ideally pay market-linked wages and
salaries to its staff and put in place an incentive systern suited for a business enterprise. If the government
does not want to bear the Failways pay hile burdern, the simple solution would be to corporatize the Railways
and let it fend for itself. And it is likely to do very well, too. Deploying railway land around stations to develop
corrumercial real estate through private sector partners, low-cost debt from the Life Insurance Corporation and
foreign direct investrment for coaches and locomotives are innovative ways to raise funds. As part of the
government, the Railways needs an autonomous regulator to set realistic tariffs. Once recast as a clutch of
operating cormpanies owned by a corrumeon holding cormpany, cormpeting with one another and with private
operators of rolling stock who pay the track and signalling subsidiary the same fee as the rail subsidiaries
operating rolling stock, fare and freight would be set dynarmically, responding to competition and the state of
demand and supply. The walue of the operating subsidiaries can be discovered through stake sales and listing.
Eased on the value s0 discovered, each subsidiary or joint venture can raise additional resources for
investment. And the Railways will offer subsidies only when these are explicitly compensated for by the Union
Budget. Such an efficient cormmercial entity would, over the medium terrn, generate substantial profits that
would find their way to the central government as well. Such a transformation is a journey that the Railways
cannot put off indefinitely. From Decerrber, after Congress chief minister Nabarm Tukd sacked his finance
minister Kalikho Pul on charges of graft, Pul has been stoking dissidence against his former boss. Ina
e0-member assembly, the Congress had 40 MLAS, of which the rebel faction aims to control 21, With the help
of the EJP's 11, they hope to upstage the existing regime.

Restricted/ Unrestricted: Unrestricted
Par agraph Display: Yes

Evaluation Mode: Non Standard
Keyboard Layout: Inscript



